Process For ACT Science Training
1.do the whole science test with no tips
2.Do the test again with a passage at a time learning the tips and practice individual times for each passage
3.Do the whole test again using the tips just learned
4. test is 35 minutes long
5.Types of passages
-2 data representation 
-3 research summaries
-1 conflicting viewpoints


Basic Tips
1.write in your booklet
[image: ]
2.Fingers
-Use your fingers to keep your place because looking back and forth losing you place on the test will cost you time AND your eyes go where you are pointing
-In Data Representation/Research summary-you have to move around to tables , charts, and summaries
-find your table-put your finger on it and go back to the passage or question
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3.Record which strategies work for you
4.Don’t let language bog you down
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5.circle questions to go back to
6.use the process of elimination
7.Do not fill in the test sheet until you hear five minutes-you waste time going back and forth AND you increase  your getting your answer numbers off

Basic Graphs and Tables
1.Look for relationships between data Direct vs Indirect
You can draw arrows in your book
Direct-variables go the same direction
Indirect-variables go in opposite direction
[image: ]
2.Look for data that is between data or off the chart
Extrapolation-draw a line and go above or below the data
Interpolation-data in question exists between data points
[image: ]
3.Look for LARGE changes in data
4.Tables
-What are the features, units, titles-
-How do the values change-do you want to mark them and draw arrows indicating relationships
-do you want to put information on the table
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Extrapolation Table
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Interpolation Table-What is a good answer for day 4?
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Gameplay to Manage Time
-Do not read questions blindly-cross off information you do not need
4 Minutes for each data representation
5 minutes each research summary
6 minutes or more at the end for conflicting viewpoints
LAST 5 Minutes to fill in answer sheet

Passages
1.Do conflicting view points LAST (6 minutes or more)
-toughest
-different in style to others
-spend more time on it at the end
-evaluates viewpoints/theories
[image: ]
A.start with the questions and find the information from the charts or experiments
B.Put fingers by the charts or experiments you are working on
And Go back to the question to see what to look for
C.summarize s in plain language as you can make lists, use arrows on tables, or look for order

2.Data Representation (4 minutes each)
-read just enough to answer questions
-interpret information 
-what is the basic topic and purpose of the experiments
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3.Research Summaries(Studies and Experiments)(5 minutes each)
-comparing experiments
-What is the basic topic and purpose of the experiment?
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THE PASSAGE

record low temperatures in the Northeastern and Mi

Scientist I
5 C'/ / em S\ﬁg}; \'Vunusualv weather pattern
lic consciousness, pundits
are ready on all sides to decry it as a sign of
iman-driven global climate change. This
kes for excellent headlines, but it is not
Yd science. Climatologists study global
mate change by looking for patterns over
e outlier is meaningless until

The Unusually harsh storm season this year
was just such an outlier. Scientists have not fit
it into a pattern of warmer or colder weather;
indeed, the frequency of such “cold snaps™
has remained relatively constant. Many other
signs point to the reality of a changing global
climate, but this particular seasonal
abnormality was an isolated anomaly, and
nothing more.

by an influx of colder polar air set
estern regions of the United States.

Scientist 2

Citing record cold temperatures as a sign of
global climate change is counterintuitive, but
popular broadcasters claiming that this
winter’s cold snap “proves” the falsity of
climate change reveal nothing but their own
ignorance.
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Passage Ill

Table 1
Gas effusion oceurs when a gas moves through a tiny * Average
opening into a region of lower pressure. The rate in milli- Molecular molecular
liters per second (mL/sec) is measured using the apparatus mass_ | Density | speed i
in Figure 1. @mu)* | @) | (wsec) |
0.08 1928 |
ol 1363
.69 661
" qs 119 506
movable 132 i
plunger —>] 180 a1l
262 341

*1.0 a.m.u. = 1.66 x 107" kg (kilograms)

!
|

Figure 2 shows a graph of the effusion rate versus the
molecular mass of the gascs.
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Passage V

A typical acid-base indicator is a compound that will
be ane color over a certain lower pH range but will be a
different color over a certain higher pH range. In the small
range between these pH ranges—the fransition range—the
indicator’s color will be an intermediate of its other
2 colors.

Students studied § acid-base indicators using colorle:
aqueous solutions of different pH and a well plate (a platc
containing a matrix of round depressions—wells—that can
hold small volumes of liquid).

Experiment 1

“The students added a pH = 0 solution to $ wells in the
first column of the well plate, then added a pH = | solution
1o the 5 wells in the nex{ colamn, and 5o o, up to pH = 7
Next, they added a drop of 4 given indicator (in Sofution) (0
cach'of the wells in a row, and then repeated this process,
adding a different indicator o cach fow. The color of the
resulling solution in cach well was then recorded in Table 1

lue, G = green. O = orange, P = purple. R = red.
yellow)

(3
Y

solution with a pH of:

Indicator o[ ]2]3]4]5]6]7
Metanil yetlow | R [R[O[Y[v[v[v]y
Resorcin blue | R | R|R|R|R|P|P|B
Curcumin YIY|Y|Y[Y|Y][Y]Y
Hessian bordeaux B|B|[B[B[B[B|B
Indigo carmine BB|B[B[B[B|B

Experiment 2

Experiment 1 was repeated with solutions that had a
pH of 8 or greater (see Table 2).

Table 2
Color in solution with a pH of:

Indicator slofw[uli]i]u
Mewnilyelow | Y[Y[Y[Y[Y[Y][Y
Resorcin blue. B|B[B[B[B[B[B
Curcumin O|R|R|R|R|R|R
Hessian bordeaux [ B[R | R | R | R | R | R
Indigo carmine | B|[B| B |B|G|Y|Y

Experiment 3

Students were given 4 solutions (Solutions I-1V) of
unknown pH. The well plate was used (o test samples of
cach solution with 4 o the § indicators (sec Table 3).

Table 3

Color in Solution:

Indicator | 1 [ 1 [uiiv
Metanil yellow Yo
Resorcin blue | B | B | R | R

RIY[Y
Indigo carmine | B | Y | B | B

Tablos adapled from David R. Lido, od., CRC Handbook of Chom-
stry and Physics, 78th od. €197 by GHC Pross LLC.
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Passage [

‘The influenza virus was first clearly described by

3 Hippocrates nearly 2,400 years ago. It did not receive the
name, “influenza,” until 1703, when it was referred to as
such by ). Hugger of the University of Edinburgh. The virus
is typically spread through the air by coughs or sneezes
i raacy e T s oo surviveToRgeron
cool surfaces. Today the influenza virus is known more
commonly as, "the flv.” Several of the more common
strains of influenza are HIN1, HZN2 and HIN2.
Vaccinations against thé various strains of influenza are
usually made available to people in developed countries.
However, itis still prevalent in non-developed countries

and is responsible for the deaths of between 250,000 and
500,000 people eachyear.
Study 1

In 2010, a temporary ban on influenza vaccines was
instituted in Australia in response to extremely negative
reactions in children under five years old. Scientists
reviewed records to determine the number of influenza
infections that were reported in Australia in 2010 and then
marked their findings by month (see Figure 1). Itis often
noted that official records underestimate the number of
people infected each year, because numerous people do
not report their infections to hospitals or clinics. Ina
developed country such as Australia, for every person who
has reported an infection, as mapy as five times as many
people may actually be infected in the local population.

700

Ty

Number of Influenza infections
reported in 2010

Figure 1

Study2

‘The influenza virus is most prevalent during the winter
‘months of the climate in which it is located. In 2008
scientists analyzed the number of people who reported
infections of the HIN1 strain in the five largest cities in
Mesxico. These cities include Mexico City, lztapalapa,
Ecatepec, Guadalajara and Puebla de Zaragoza. The
analysis was taken in the months of January and june,
januagy is considered to be representative of the winter
‘months while June is considered to be represent

the summer mBnths. The results of the IndIngs are shown
n Figure
T g Figure 2
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Table 3

Results from:

er seed
Be), and band- | ant-
D ! planted | planted
Maturation of Species C seeds seeds | seeds
Seceds that germinated 26 39 1
9 20

Plants alive after 1 year
Plants alive after 2 y 4 13
Seeds produced per plant after 2 years | 2,187

Table 3 adapted from Frances M. Hanzawa, Andrew J. Beallié,
and David C. Culver, “Directed Dispersal: Demographic Analysis of

composed
an Ant-Seed Mutualism.” ©1988 by The University of Chicago.

of elaiosome

Study 3; one could generalize

13. Based on the results of i
lanting of seeds, ant-planting.

that compared to hand-p]
of seeds results in:

A. increased seed germination.
B. increased seed production per plant.
C. decreased plant survival after 1 year.
containing 20 Species B D. decreased plant survival after 2 years.
48 hours and the number
as recorded. The results

en
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Cricket Chirps vs. Temperature
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